
Instructions
NEXT S4 service cart

S O N I C - E Q U I P M E N T . C O M

WORK 
EFFICIENT
WORK 
WITH SONIC

SONIC EQUIPMENT BV
Component 114 - 116
1446 WP Purmerend
The Netherlands 
Tel. +31 299 437 000 
Fax +31 299 436 610
info@sonic-equipment.com 

S O N I C - E Q U I P M E N T . C O M

Sonic Equipment

sonic.equipment

Sonic Equipment Global

Sonic Equipment BV

ARE YOU 
READY?

#4738413

Sonic manual NEXT S4 Service cart.indd   1-2 18-12-2023   19:25



S O N I C - E Q U I P M E N T . C O M   ||   S O N I C - E Q U I P M E N T . C O M 32

Contents:

1x Bottom tray welding body

1x Top tray welding body

1x 33” service cart frame

1x Handle (side)

1x Handle (lit)

1x Plastic worktop

1x Top tray welding body

2x Fixed caster

2x Swivel caster

2x Lock & Key

2x Gas strut

2x M4x8 Philips head bolt

3x Small drawer

3x Right drawer rail

3x Left drawer rail

4x Post

16x Washer

16x Spring washer

16x M8x20 Bolt

48x M6x16 Big flat head hex screw

1

2

3

4

 33" Service cart frame 

Handle

Left drawer rail

Right drawer rail

 Post

 Bottom tray welding body

M6x16 Big flat head hex screw

 Lock  & key 

Fix caster

Swivel caster

Washer 

Spring washer (Ø8)

Bolts (M8x20)

 Small drawer

Top tray welding body

Handle

M4x8 Phillips head bolt

 Gas strut

Plastic worktop

 Post 

Bottom tray welding body

Fix caster

Swivel caster

Washer
Spring washer (Ø8)
Bolts (M8x20)

 33” service cart frame

M6x16 Big flat head hex 
screw

M6x16 Big flat head hex 
screw

Top tray welding body

M6x16 Big flat head hex 
screw

M6x16 Big flat head hex 
screw

Handle

M4x8 Phillips head bolt

Handle

Sonic manual NEXT S4 Service cart.indd   3-4 18-12-2023   19:25


